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rhe table below shows tho nh.^_^ _ .'s the changes in the velocity of a moving object with respect to time.
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a. plot the velocity _ time graph b. Plot the acceleration _ time



Question 2

A ball is released from rest to make a free fallfrom a hight of 45m from th eground. (take, g= -'10m/s2 )

a)How lonq.will it take for the ball to hit on the ground. 
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Question 3

A bus initially at rest accelerates with 3 m/s2 for 10 seconds

a) Calculate the velocity of the bus after 10s.
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b) How far will it move during this time?
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